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Sketcir t l ie pieceu,ise lunction . i  (.rt  on the -uraph siven: [KU/5] /(r)

() Dcternrinc thc r, 'alue of "k" so that the
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Estinrate the instantal-]eous rate of change fcrr tlie function .f tx I =.tr" + r-1-

difference-qr-rotient method. is the function incleasing ol decreasins u'hen

I using the
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Au autot-t-tt'rbilc eutcrs a road ancl travels the fcrllou,ing distance in nretres dLu'ing the uexl l() scconcls.
r,i,herc ,r' rcpresents the distimce in rnelre s and / Linrc in scoonds.
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{ ) Dcten'ninc thc avcrage late of change (specd) r'1'tircveir ic le ovcr the f l 'st 40 metres? f l iLJl l

R ) Estimate the instantaneous rate
"Plecedin g/Fo llou,ing" \4ethod

of change of tire vehicle u'hen
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C) lf the points above satisfi' thc eciuatioli ,r
t irc car wiren I = I8.5 seconds. (LJse anv
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